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MY | AlE CH=} DECRE 2016 | 2017 | 2018
7t | A A yst to|H A A Gkt 4.8 5.9 7.3
7t | A StCH st HEAABS A E) - 4.6 6.2
7t | Q12 | At=z|utstoyst 2Hast s 5.9 5.5 6.8
kx| 1 | Atz|apstcyst 0| C| {7 7 L| 7| O] M &t it 5.8 5.2 7.3
7t | 2& | ol=xSsoiE A=Holstuh(HtH B) 6.2 47 6.7
7l | Q2 | ™Motstoyst S ot 5.6 6.0 8.3
7t | A& A goyst I}O| i A 4 H Sk (KO s 8.7 12.1
b | Kt StCH st 0| 2§ X} & X3 St at 6.9 8.7 8.4
7t | A& S o st AFHS skt 9.0 11.7 10.8
7ta | At StCH St MATYSSHE 8.2 8.5 9.1
7t | At S1tCH st 0j| L X| S &t it 8.5 9.6 9.3
7t | At StCH st ofsts st 8.3 8.5 79
7t | At AHE CH St ot ul St s 6.1 8.4
7tk | A | XpSiatpstoyst A4 ot st it 9.9 11.0 8.1
b= | Xt | XpSiabstoyst =8t 7.7 6.1 8.6
Ltz | &34 EEIE R 5.3 3.6 43
L= | &4 | dF=as8Us AN Z8etE 43 3.3 3.7
Ltz | 28 e e w5t 5.3 3.6 43
Ltz | 22 AHE CH St mi=jein| 6.3 2.9 3.8
Ltz | Q& AR LY st = O w &1} 37 3.7 3.6
Ltz | 22 AHEH Lt 1y = nl 3.1 5.3 43
Ltz | 212 | Atz|apstoist Atz| st} 3.8 4.0 4.0
Ltz | QIF | At2|upstoyst Sl pmicin], 4.5 4.5 44
Ltz | Q12 | elEqrstoist = 0| 25t} 4.4 5.0 4.1
Ltz | 212 | elEqrstoist Arstdf 4.8 4.5 40
Ltz | 22 | QZutstoist IO Z st 3.6 3.7 4.0
Ltz | 212 | ClEqrstoist SO0 =2t 4.2 3.4 42
Ltz | 212 | elEqrstoist Mot 7.3 47 47
Ltz | Q2 | SMuistoyst & st} 3.2 2.8 3.2
Ltz | X S1tCH St st H S stut 9.0 6.7 6.5
Ltz | X StCH St H=E3otE 10.9 6.8 5.5
L=t | XA SAtCi st HA=SHE (RHAH) 7.7 6.4 6.6
Lb= | Xt S tCH S} 7| A5t & 4.7 4.1 4.7
Ltz | XIS S o st L A|lSstat 7.6 7.3 9.1
Ltz | XIS SafCyst A Skt 5.3 49 5.2
L= | XS S tCH s} HAE Z ek} 49 5.0 49
Lt | RS StCH st F7|LH St} 6.3 5.6 7.3
Ltz | X StCH st B HASEE 47 47 45
L= | A StCH st XHeletd 3stt 7.4 7.7 6.3
L= | A S tCH st 7| K sstE 5.3 4.0 4.8
Ltz | XIS StCl st HAFHATELJOSE - 43 3.9
Ltz | XIS o|ajcy st o| of| 3.8 4.0 3.7
L= | A | A pstoist = 2|3t 7.6 8.2 6.5
L | At | Xt apstoyst @fst 1} 5.5 4.1 47
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Hy | AlE _EHst eI 2017 | 2018
7 | &4 EERE A Z F st 100.0 | 1364
7= | &4 Satoist ‘dHEA|AESH A E) 54.6 70.0
7t | 912 | Arz|apstoyst e 125.0 | 125.0
7t | OIF | Al=|utstcyst FL|A oMt} 100.0 64.3
7t | 22 | Ool=-NSCHst et Eetd3) 333 77.8
72 | 912 | ‘dMaistoist 2 ot} 250.0 | 200.0
7t | X4 AGChst HA A A SHap (RO 157.1 | 162.5
7l | Xt StCist 0|2 Xt & Xt stk 3400 | 3455
72 | Xt Satoist 53t 266.7 | 200.0
7t | XS S JtCH St NES R 2526 | 2444
7t | XS SafCyst o 4 x| 52t 363.6 | 150.0
7t | X4 S tCist ztsta st} 306.7 | 220.0
7t | X4 AHERH CH St Fetu 1} 175.0 | 1333
b | AR | AP ISty st A4 O st 2375 | 168.8
7t | Xt¢ Xt drstef sl =St} 176.9 923
= | N4 R, ZEEE! 22.0 16.3
L | 84 | dHasd ZHassy? 30.0 9.1

Lt | 92 A CH S e 375 11.1
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Ltz | QI8 NEEE = Of w5 1} 28.6 0.0

Ltz | 22 NEEES o fmE=nl; 429 42.9
Lzt | O | Ate|apstCist Atz|stat 444 0.0

Lzt | 918 | At2|apetCist K| 2| st f 54.6 16.7
Lt | 92 Ol 2 1ot 5t = O =2t} 22.2 10.0
Lt | 912 | QIEujstrfst Atstat 87.5 0.0

Lt | 912 | QI21pstrish ol G2 5tut 30.0 8.3

Lt | 912 | QIZ1fstiist oS =stit 16.7 0.0

Lt | Q& | QI=1tstcist Mokt 100.0 12.5
Lt | Q12 | SMastoist JE = 18.8 5.3

Lb=t | At SafCyst Hestd 55t 76.9 385
Lb= | Xt SapCyst Hu38E 36.4 18.2
Lb=t | At S JtCH St A&t (R 20.0 10.0
L= | Xt Satoist 7| ASSE 35.7 439
L= | Xt StCi st E A St 80.0 40.0
L=t | Xt S tCist A=t 30.0 100.0
Lb=t | At SafCyst S A 5=k} 20.0 727
Lb=t | At SAtChst 7|ttt 50.0 18.2
Li= | At¢ S tCist S ™HAISSHE 56.3 414
Li= | Xt¢ SJtCHSt et E S stht 33.3 11.1

Lb= | Xt StCH st M7| MK SsHE 25.8 35.5
L=t | Xt SapCyst HEHAZELOSHE 26.7 30.0
Lb=t | At o| st o[ of| 28.2 30.3
bt | A | A SOy =St 111.1 70.0
Lbot | Xt | XS dpstCy @} st ot 23.5 53.3
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